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EARTH AND UNIVERSE

1. Recently, scientists observed the merger of giant ‘blackholes’ billions of light-years
away from the Earth. What is the significance of this observation? (2019)
a. ‘Higgs boson particles’ were detected.
b. ‘Gravitational waves’ were detected.
c. Possibility of inter-galactic space travel through ‘wormhole’ was confirmed.
d. It enabled the scientist to understand ‘singularity’.

2. Consider the following statements: (2018)
1. The Earth’s magnetic field has reversed every few hundred thousand years.
2. When the Earth was created more than 4000 million years ago, there was 54% oxygen

and no carbon dioxide.
3. When living organisms originated, they modified the early atmosphere of the Earth.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

3. Consider the following phenomena: (2018)
1. Light is affected by gravity
2. The Universe is constantly expanding.
3. Matter warps its surrounding space-time.
Which of the above is/are the prediction/predictions of Albert Einstein’s General Theory
of Relativity, often discussed in media?
(a) 1 and 2 only (b) 3 only (c) 1 and 3 only (d) 1, 2 and 3

4. What is the purpose of ‘evolved Laser Interferometer Space Antenna (eLISA)’
project? (2017)
(a) To detect neutrinos
(b) To detect gravitational waves
(c) To detect the effectiveness of missile defence system
(d) To study the effect of solar flares on our communication systems

5. The terms ‘Event Horizons’ ‘Singularity’, ‘String Theory’ and ‘Standard model’ are
sometimes seen in the news in the context of (2017)
(a) Observation and understanding of the Universe
(b) Study of the solar and the lunar eclipses
(c) Placing satellites in the orbit of the Earth
(d) Origin and evolution of living organisms on the Earth



6. The term ‘Goldilocks Zone’ is often seen in the news in the context of (2015)
(a) The limits of habitable zone above the surface of the Earth
(b) Regions inside the Earth where shale gas is available
(c) Search for the Earth-like planets in outer space
(d) Search for meteorites containing precious metals

7. Which of the following is/are cited by the scientists as evidence/evidences for the
continued expansion of universe? (2012)
1. Detection of microwaves in space
2. Observation of red shift phenomenon in space
3. Movement of asteroids in space
4. Occurrence of supernova explosions in space
Select the correct answer using the codes given below:
(a) 1 and 2 (b) 2 only
(c) 1, 3 and 4 (d) None of the above can be cited as evidence

8. Which of the following sets of elements was primarily responsible for the origin of
life on the Earth? (2012)
(a) Hydrogen, Oxygen, Sodium
(b) Carbon, Hydrogen, Nitrogen
(c) Oxygen, Calcium, Phosphorus
(d) Carbon, Hydrogen, Potassium

9. What is the difference between asteroids and comets? (2011)
1. Asteroids are small rocky planetoids, while comets are formed of frozen gases held

together by rocky and metallic material
2. Asteroids are found mostly between the orbits of Jupiter and Mars, while comets are

found mostly between Venus and Mercury.
3. Comets show a perceptible glowing tail, while asteroids do not.
Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 1 and 3 only
(c) 3 only (d) 1, 2 and 3

10. In order of distances from the Sun, which of the following planets lie between Mars
and Uranus? (2008)
(a) Earth and Jupiter (b) Jupiter and Saturn
(c) Saturn and Earth (d) Saturn and Neptune

11. What is the average distance (approximate) between the sun and the Earth? (2007)
(a) 70 x 105 km (b) 100 x 105 km (c) 110 x 106 km (d) 150 x 106 km

12. Assertion (A): To orbit around Sun, the planet Mars takes lesser time than time
taken by the Earth. (2006)
Reason (R): The diameter of the planet Mars is less than that of the Earth.
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not a correct explanation of A
(c) A is true but R is false
(d) A is false but R is true

13. Assertion (A): Existence of human life on Venus is highly improbable. Reason (R):
Venus has extremely high level of carbon dioxide in its atmosphere. (2005)
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not a correct explanation of A
(c) A is true but R is false
(d) A is false but R is true



14. Among the following which planet takes maximum time for one revolution around
the Sun? (2003)
(a) Earth (b) Jupiter (c) Mars (d) Venus

15. Which one of the following statements is correct with reference to our solar system?
(2002)

(a) The Earth is the densest of all the planets in our solar system
(b) The predominant element in the composition of Earth is silicon.
(c) The Sun contains 75 percent of the mass of the solar system.
(d) The diameter of the Sun is 190 times that of the Earth.

16. A ‘black hole’ is a body in space which does not allow any radiation to come out.
This property is due to its (2000)
(a) very small size (b) very large size
(c) very high density (d) very low density

17. Consider the following statements regarding asteroids: (1998)
1. Asteroids are rocky debris of varying sizes orbiting the sun
2. Most of the asteroids are small but some have diameter as large as 1000km
3. The orbit of asteroids lies between the orbits of Jupiter and Saturn.
Which of these statements are correct?
(a) 1, 2 and 3 (b) 2, and 3 (c) 1 and 2 (d) 1 and 3

18. The group of small pieces of rock revolving round the sun between the orbits of
Mars and Jupiter are called (1997)
(a) meteors (b) comets (c) meteorites (d) asteroids

19. Which one of the following stars is nearest to the Earth? (1997)
(a) Polaris (b) Alpha Centauri (c) Sun (d) Sirius

20. Which one of the following conditions is most relevant for the presence of life on
Mars? (1997)
(a) Atmospheric composition
(b) Thermal conditions
(c) Occurrence of ice cape and frozen water
(d) Occurrence of Ozone

21. A meteor is: (1995)
(a) a rapidly moving star.
(b) a piece of matter which has entered the earth’s atmosphere from outer space.
(c) a part of a constellation.
(d) a comet without a tail

22. On 21st June, the Sun (2019)
a) does not set below the horizon at the Arctic Circle
b) does not set below the horizon at Antarctic Circle
c) shines vertically overhead at noon on the Equator
d) shines vertically overhead at the Tropic of Capricorn

23. Among the following cities, which one lies on a longitude closes to that of Delhi?
(2018)

(a) Bengaluru
(b) Hyderabad
(c) Nagpur
(d) Pune



24. Variations in the length of daytime and night-time from season to season are due to
(2013)
(a) The earth’s rotation on its axis
(b) The earth’s revolution round the sun in an elliptical manner
(c) Latitudinal position of the place
(d) Revolution of the earth on a tilted axis

25. A person stood alone in a desert on a dark night and wanted to reach his village
which was situated 5 km east of the point where he was standing. He had no
instruments to find the direction, but he located the polestar. The most convenient
way now to reach his village is to walk in the (2012)
(a) direction facing the polestar
(b) direction opposite to the polestar
(c) direction keeping the polestar to his left
(d) direction keeping the polestar to his right

26. Consider the following countries (2009)
1. Australia 2. Namibia 3. Brazil 4. Chile
Through which of the above does the Tropic of Capricorn pass?
(a) 1 only (b) 2, 3 and 4 (c) 1, 2 and 3 (d) 1, 2, 3 and 4

27. Which one of the following straits is nearest to the International Date Line?
(2008)

(a) Malacca Strait (b) Bering Strait
(c) Strait of Florida (d) Strait of Gibraltar

28. Which one of the following cities does not have the same clock time as that of the
other three cities at any given instant? (2007)
(a) London (U.K) (b) Lisbon (Portugal)
(c) Accra (Ghana) (d) Addis Ababa (Ethiopia)

29. What is the average distance (approximate) between the sun and the Earth? (2007)
(a) 70 x 105 km(b) 100 x 105 km (c) 110 x 106 km (d) 150 x 106 km

30. What is the approximate mean velocity with which the Earth moves round the sun
in its orbit? (2006)
(a) 20 km/s (b) 30 km/s (c) 40 km/s (d) 50 km/s

31. Consider the following statements: (2005)
1. Total land area of Earth is approximately 1475 lakh square kilometres
2. Ratio of land area to water area of Earth is approximately 1:4
3. Maximum percentage of Earth’s water is in the Pacific Ocean
Which of the statements given above is/are correct?
(a) 1 and 3 (b) 2 and 3 (c) 1 only (d) 3 only

32. Consider the following statements: (2005)
1. The axis of the earth’s magnetic field is inclined at 23 ½ 0 to the geographic axis of

the earth
2. The earth’s magnetic pole in the northern hemisphere is located on a peninsula in

northern Canada.
3. Earth’s magnetic equator passes through Thumba in South India.



Which of the statements given above is/are correct?
(a) 1, 2 and 3 (b) 2 and 3 (c) 2 only (d) 3 only

33. Assertion (A): The same face of the Moon is always presented to the Earth
Reason (R): The Moon rotates about its own axis in 23 ½ days which is about the
same time that it takes to orbit the Earth. (2005)
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not a correct explanation of A
(c) A is true but R is false
(d) A is false but R is true

34. If it is 10.00 a.m. at I.S.T. then what would be the local time at Shillong on 920E
longitude? (1999)
(a) 9.38 a.m. (b) 10.38 a.m. (c) 10.22 a.m. (d) 9.22 a.m.

35. A ship sailing from the eastern extremity of the Aleutian Islands to Dutch crosses
1800 meridian at 23.30 hrs on January 1, 1999. What time and date will be recorded
by the captain of the ship in his diary after one-hour journey from the point of
crossing of the meridian? (1999)
(a) January 1, 0030 hrs (b) January 2, 0030 hrs
(c) January 3, 0030 hrs (d) January 4, 0030 hrs

36. When there is noon at I.S.T meridian people on another place of the Earth are
taking their 6 O’clock morning tea. The longitude of the place is:

(1998)
(a) 170 30’E (b) 70 30’ W (c) 1720 30’ E (d) 900 W

37. If the earth’s direction of rotation is reversed, what would be the IST when it is noon
at the International Date Line? (1997)
(a) 06.30 hrs (b) 05.30 hrs (c) 18.30 hrs (d) 17.30 hrs

38. Which one of the following is a reason why astronomical distances are
measured in light-years? (2021)

a) Distances among stellar bodies do not change
b) Gravity of stellar bodies does not change
c) Light always travels in straight line
d) Speed of light is always same

39. In the northern hemisphere, the longest day of the year normally occurs in the:
(2022)

(a) First half of the month of June

(b) Second half of the month of June

(c) First half of the month of July

(d) Second half of the month of July



40. If a major solar storm (solar-flare) reaches the Earth, which of the following are the
possible. effects on the Earth ? (2022)

1. GPS and navigation systems could fail.

2. Tsunamis could occur at equatorial regions.

3. Power grids could be damaged.

4. Intense auroras could occur over much of the Earth.

5. Forest fires could take place over much of the planet.

6. Orbits of the satellites could be disturbed.

7. Shortwave radio communication of the aircraft flying over polar regions could be
interrupted.

Select the correct answer using the code given below:

(a) 1, 2, 4 and 5 only

(b) 2, 3, 5, 6 and 7 only

(c) 1,3, 4, 6 and 7 only

(d) 1, 2, 3, 4, 5, 6 and 7

ATMOSPHERE

1. The increasing amount of carbon dioxide in the air is slowly raising the temperature
of the atmosphere, because it absorbs (2012)
(a) the water vapour of the air and retains its heat
(b) the ultraviolet part of the solar radiation
(c) all the solar radiations
(d) the infrared part of the solar radiation

2. Electrically charged particles from space travelling at speeds of several hundred
km/sec can severely harm living beings if they reach the surface of the Earth. What
prevents them from reaching the surface of the Earth? (2012)
(a) The Earth’s magnetic field diverts them towards its poles
(b) Ozone layer around the Earth reflects them back to outer space
(c) Moisture in the upper layers of atmosphere prevents them from reaching the surface

of the Earth
(d) None of the statements (a), (b) and (c) given above is correct



3. The jet aircrafts fly very easily and smoothly in the lower stratosphere. What could
be the appropriate explanation? (2011)
1. There are no clouds or water vapour in the lower stratosphere
2. There are no vertical winds in the lower stratosphere.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

4. A layer in the Earth’s atmosphere called Ionosphere facilitates radio communication.
Why? (2011)
1. The presence of ozone causes the reflection of radio waves to Earth.
2. Radio waves have a very long wavelength.
Which of the statements given above is/are correct?
(a) 1only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

5. Consider the following which can be found in the ambient atmosphere: (2010)
1. Soot 2. Sulphur hexafluoride 3. Water vapour
Which of the above contribute to the warming up of the atmosphere?
(a) 1 and 2 only (b) 3 only (c) 2 and 3 only (d) 1, 2 and 3

6. Assertion (A): The thickness of the atmosphere is maximum over the Equator.
Reasons (R): High insolation and strong convection currents occur over the Equator.

(2004)
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not a correct explanation of A
(c) A is true but R is false
(d) A is false but R is true

7. The correct sequence of different layers of the atmosphere from the surface of the
Earth upwards (1998)
(a) Troposphere, Stratosphere, Ionosphere, Mesosphere
(b) Stratosphere, Troposphere, Ionosphere, Mesosphere
(c) Troposphere, Stratosphere, Mesosphere, Ionosphere
(d) Stratosphere, Troposphere, Mesosphere, Ionosphere

8. Which one of the following layers of the atmosphere is responsible for the deflection
of radio waves? (1996)
(a) Troposphere (b) Stratosphere(c) Mesosphere (d) Ionosphere

9. Consider the following statements : (2022)

1. High clouds primarily reflect solar radiation and cool the surface of the Earth.

2. Low clouds have a high absorption of infrared radiation emanating from the
Earth’s surface and thus cause warming effect.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only



(c) Both 1 and 2

(d) Neither 1 nor 2

INSOLATION AND TEMPERATURE
1) The annul range of temperature in the interior of the continents is high as

compared to coastal areas. What is/are the reason/reasons? (2013)
1. Thermal difference between land and water
2. Variation in altitude between continents and oceans
3. Presence of strong winds in the interior.
4. Heavy rains in the interior as compared to coasts.

Select the correct answer using the codes given below.
a) 1 only
b) 1 and 2
c) 2 and 3
d) 1, 2, 3 and 4

2) Which one of the following reflects back more sunlight as compared to other
three? (2010)

a) Sand desert
b) Paddy crop land
c) Land covered with fresh snow
d) Prairie land

3) Consider the following statements: (2008)
1. The albedo of an object determines its visual brightness when viewed with

reflected light.
2. The albedo of Mercury is much greater than the albedo of the Earth

Which of the statements given above is/are correct?
a) 1 only
b) (b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2

4) Consider the following statements: (2005)
1. The annual range of temperature is greater in the Pacific Ocean than that in the

Atlantic Ocean
2. The annual range of temperature is greater in the Northern Hemisphere than

that in the Southern Hemisphere
Which of the statements given above is/are correct?

a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2

5) Cloudy nights are warmer compared to clear cloudless nights because clouds:
(2001)

a) Prevent cold waves from the sky from descending on earth
b) Reflect back the heat given off by earth
c) Produce heat and radiate it towards earth
d) Absorb heat from the atmosphere and send it towards earth



PRESSURE ANDWIND

1. Consider the following statements: (2015)
1. The winds which blow between 300N and 600S latitudes throughout the year are

known as westerlies.
2. The moist air masses that cause winter rains in North-Western region of India are part

of westerlies.
Select the correct answer using the code given below.
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

2. Normally, the temperature decreases with the increase in height from the Earth’s
surface, because (2012)
1. the atmosphere can be heated upwards only from the Earth’s surface
2. there is more moisture in the upper atmosphere
3. the air is less dense in the upper atmosphere

Select the correct answer using the codes given below:
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

3. Westerlies in southern hemisphere are stronger and persistent than in northern
hemisphere. Why? (2011)
1. Southern hemisphere has less landmass as compared to northern hemisphere.
2. Coriolis force is higher in southern hemisphere as compared to northern hemisphere
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

4. What could be the main reason/reasons for the formation of African and Eurasian
desert belt? (2011)
1. It is located in the sub-tropical high-pressure cells.
2. It is under the influence of warm ocean currents.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

5. What causes wind to deflect toward left in the Southern hemisphere? (2010)
(a) Temperature b) Magnetic field (c) Rotations of the earth (d) Pressure

6. Consider the following statements: (2009)
1. In the world, the tropical deserts occur along the western margins of continents within

the trade wind belt
2. In India, the East Himalayan region gets high rainfall from north-east winds.
Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

7. Assertion (A): Wind patterns are clockwise in the northern hemisphere and anti-
clockwise in the southern hemisphere
Reason (R): The directions of wind patterns in the northern and the southern hemisphere
are governed by the Coriolis Effect. (2005)
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not a correct explanation of A
(c) A is true but R is false



(d) A is false but R is true
8. Consider the following statements: (2005)

1. Either of the two belts over the oceans at about 300 to 350 N and Latitudes is known as
Horse Latitude.

2. Horse latitudes are low pressure belts.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

9. Assertion (A): 600-650 latitudes in both the hemispheres have a low-pressure belt instead
of high pressure.
Reason (R): The low-pressure areas are permanent over oceans rather than on land (2002)
(a) Both A and R are true, and R is the correct explanation of A
(b) Both A and R are true, but R is not a correct explanation of A
(c) A is true but R is false
(d) A is false but R is true

10.Match List-I with List-II and select the correct answer using the codes given below
the lists: (2001)
List-I (Local Wind) List-II (Region)
A. Foehn 1. Argentina
B. Sarmun 2. Kurdistan
C. Santa Ana 3. California
D. Zonda 4. Alps
Codes:

A B C D A B C D
(a) 2 4 1 3 (b) 4 2 3 1
(c) 2 4 3 1 (d) 4 2 1 3

11.Consider the following statements about the Roaring Forties: (2000)
1. They blow uninterrupted in the Northern and Southern Hemispheres
2. They blow with great strength and constancy
3. Their direction is generally from North-West to East in the Southern Hemisphere
4. Overcast skies, rain and raw weather are generally associated with them
Which of these statements are correct?
(a) 1, 2 and 3 (b) 2, 3 and 4 (c) 1, 3 and 4 (d) 1, 2 and 4

ATMOSPHERE ANDMOISTURE

1. Why are dewdrops not formed on a cloudy night? (2019)
(a) Clouds absorb the radiation released from the Earth’s surface.
(b) Clouds reflect back the Earth’s radiation.
(c) The Earth’s surface would have low temperature on cloudy nights.
(d) Clouds deflect the blowing wind to ground level.

2. Which one of the following statements is correct? (2004)
(a) Cirrus clouds are composed of ice crystals
(b) Cirrus clouds exhibit a flat base and have the appearance of rising domes



(c) Cumulus clouds are white and thin and form delicate patches and give a fibrous and
feathery appearance

(d) Cumulus clouds are classified as high clouds
3. Assertion (A): The amount of moisture in the atmosphere is related to latitude.

Reason (R): The capacity to hold moisture in the form of water vapour related to
temperature. (2003)
a) Both A and R are individually true, and R is the correct explanation of A
b) Both A and R are individually true, but R is not the correct explanation of A
c) A is true, but R is false
d) A is false, but R is true

4. Consider the following climatic and geographical phenomena: (2002)
1. Condensation 2. High temperature and humidity
3. Orography 4. Vertical wind
Thunder Could development is due to which of these phenomena?
(a) 1 and 2 (b) 2, 3 and 4 (c) 1, 3 and 4 (d) 1, 2, 3 and 4

5. The clouds float in the atmosphere because of their low (1995)
(a) temperature (b) velocity (c) pressure (d) density

WEATHER EVENTS

1. Consider the following statements: (2020)
1. Jet streams occur in the Northern Hemisphere only.
2. Only some cyclones develop an eye
3. The temperature inside the eye of a cyclone is nearly 10°C lesser than that of the

surroundings.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 and 3 only
(c) 2 only (d) 1 and 3 only

2. Consider the following statements: (2015)
1. The winds which blow between 300N and 600S latitudes throughout the year are

known as westerlies.
2. The moist air masses that cause winter rains in North-Western region of India are part

of westerlies.
Select the correct answer using the code given below.
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

3. In the South Atlantic and South-Eastern Pacific regions in tropical latitudes, cyclone
does not originate. What is the reason? (2015)
(a) Sea surface temperature are low
(b) Inter-Tropical Convergence Zone seldom occurs
(c) Coriolis force is too weak
(d) Absence of land in those regions

4. During a thunderstorm, the thunder in the skies is produced by the (2013)
1. meeting of cumulonimbus clouds in the sky.
2. lightening that separates the nimbus clouds.



3. violent upward movement of air and water particles.
Select the correct answer using the codes given below:
(a) 1 only (b) 2 and 3 (c) 1 and 3 (d) None of the above produces the thunder

5. Consider the following names: (2009)
1. Ike 2. Kate 3. Gustav
Which of the above are the names of hurricanes that had occurred very recently?
(a) 1 and 2 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

6. Consider the following statements: (2001)
1. Anti-cyclonic conditions are formed in winter season when atmospheric pressure is

high and air temperatures are low.
2. Winter rainfall in Northern India causes development of Anticyclonic conditions with

low temperatures.
Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

7. Consider the following climatic and geographical phenomena:(2002)
1. Condensation 2. High temperature and humidity
3. Orography 4. Vertical wind
Thunder cloud development is due to which of these phenomena?
(a) 1 and 2 (b) 2, 3 and 4 (c) 1, 3 and 4 (d) 1, 2, 3 and 4

8. Which one of the following weather conditions is indicated a sudden fall in
barometer reading? (2001)
(a) Stormy (b) Calm weather
(c) Cold and dry weather (d) Hot and sunny weather

9. Willy Willy is: (1995)
(a) a type of tree grown in temperate regions
(b) a wind that blows in a desert
(c) a tropical cyclone of the north-west Australia
(d) a kind of common fish found near Lakshadweep islands

10. The term “Levant” often heard in the news roughly corresponds to which of the
following regions ? (2022)

(a) Region along the eastern Mediterranean shores

(b) Region along North African shores stretching from Egypt to Morocco

(c) Region along Persian Gulf and Horn of Africa

(d) The entire coastal areas of Mediterranean Sean



INDIA’S CLIMATE

1. With reference to ‘Indian Ocean Dipole (IOD)’ sometimes mentioned in the news
while forecasting Indian monsoon, which of the following statements is/are correct?

(2017)
1. IOD phenomenon is characterised by a difference in sea surface temperature between

tropical Western Indian Ocean and tropical Eastern Pacific Ocean.
2. An IOD phenomenon can influence an EI Nino’s impact on the monsoon.
Select the correct answer using the code given below:
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

2. Consider the following statements: (2012)
1. The duration of the monsoon decreases from southern Indian to northern India
2. The amount of annual rainfall in the northern plains of India decreases from east to

west
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

WORLD CLIMATE

1. Each day is more or less the same, the morning is clear and bright with a sea breeze;
as the Sun climbs high in the sky, heat mounts up, dark clouds form, then rain comes
with thunder and lightning. But rain is soon over.” (2015)
Which of the following regions is described in the above passage?
(a) Savannah (b) Equatorial (c) Monsoon (d) Mediterranean

2. The seasonal reversal of winds is the typical characteristics of (2014)
(a) Equatorial climate (b) Mediterranean climate
(c) Monsoon climate (d) All of the above climates

3. “Climate is extreme, rainfall is scanty, and the people used to be nomadic herders”.
The above statement best describes which of the following regions? (2013)
(a) African Savannah
(b) Central Asian Steppe
(c) North American Prairie
(d) Siberian Tundra

4. Which one of the following is the characteristic climate of the Tropical Savannah
Region? (2012)
(a) Rainfall throughout the year
(b) Rainfall in winter only
(c) An extremely short dry season
(d) A definite dry and wet season

5. A geographic region has the following distinct characteristics: (2010)
1. Warm and dry climate
2. Mild and Wet winter
3. Evergreen oak trees
The above features are the distinct characteristics of which one of the following regions.
(a) Mediterranean



(b) Eastern China
(c) Central Asia
(d) Atlantic coast of North America

6. “Leaf litter decomposes faster than in any other biome and a result the soil
surface is often almost bare. Apart from trees, the vegetation is largely composed
of plant forms thatreach up into the canopy vicariously, by climbing the trees or
growing as epiphytes, rooted on the upper branches of trees.” This is the most
likely description of (Climatology)

a) Coniferous forest
b) dry deciduous forest
c) mangrove forest
d) tropical rain forest

7)) The vegetation of savannah consists of grassland with scattered small trees,
extensive areashave no trees. The forest development in such areas is generally kept
in check by one more or a combination of some conditions. Which of the following
are such conditions? (Climatology)

1. Burrowing animals termites
2. Fire
3. Grazing herbivores
4. Seasonal rainfall
5. Soil properties
Select the correct answer using the code given below.

a) 1 and 2
b) 4 and 5
c) 2, 3 and 4
d) 1, 3 and

8) “If rainforests and tropical forests are the lungs of the Earth, then surely wetlands
function as its kidneys.” Which one of the following functions of wetlands best reflects
the above statements? (2022)

a) The water cycle in wetlands involves surface runoff, subsoil percolation and
evaporation.

b) Algae from the nutrient base upon which fish, crustaceans, molluscs, birds,
reptiles and mammals thrive.

c) Wetlands play a vital role in maintaining sedimentation balance and soil
stabilization.

d) Aquatic plants absorb heavy metals and excess nutrients



VEGETATION

1) With reference to ‘palm oil’, consider the following statements:(Natural Vegetation)
1. The palm oil tree is native to Southeast Asia.
2. The palm oil is raw material for some industries producing lipstick and perfumes.
3. The palm oil can be used to produce bio-diesel.

Which of the statements given above are correct?
a) 1 and 2 only
b) 2 and 3 only
c) 1 and 3 only
d) 1,2 and 3

2) Among the following crops, which one is the most important anthropogenic source
of both methane and nitrous oxide ? (2022)

(a) Cotton

(b) Rice

(c) Sugarcane

(d) Wheat

OCEANOGRAPHY

1) Consider the following statements: (2021)

1. The Global ocean Commission grants licences for seabed exploration
and mining ininternational waters.

2. India has received licences for seabed mineral exploration in international waters.
3. ‘Rare earth minerals’ are present on seafloor in international waters.
Which of the statements given above are correct?

a) 1 and 2 only
b) 2 and 3 only
c) 1 and 3 only
d) 1,2 and 3

2) With reference to Ocean Mean Temperature (OMT), which of the following
statements is/are correct? (2020)
1. OMT is measured up to a depth of 26°C isotherm which is 129 meters in the south-

western Indian Ocean during January- March
2. OMT collected during January-March can be used in assessing whether the amount

of rainfall in monsoon will be less or more than a certain long-term mean.
Select the correct answer using the code given below:
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2



3) On the planet earth, most of the freshwater exists as ice caps and glaciers. Out of the
remaining freshwater, the largest proportion (2013)

(a) is found in atmosphere as moisture and clouds
(b) is found in freshwater lakes and rivers
(c) exists as groundwater
(d) exists as soil moisture

4)) Consider the following statements: (2010)
1. On the planet Earth, the fresh water available for use amounts to about less than 1%

of the total water found.
2. Of the total fresh water found on planet Earth 95% is bound up in polar ice caps and

glaciers.
Which of the statements is given above is/are correct?
(a) 1 only (b) 2 only (c) both 1 and 2 (d) Neither 1 nor 2

5) What explains the eastward flow of the equatorial counter-current?(2015)
(a) The Earth’s rotation on its axis
(b) Convergence of the two equatorial currents
(c) Difference in salinity of water
(d) Occurrence of the belt of calm near the equator
6) Tides occur in the oceans and seas due to which among the following? (2015)
1. Gravitational force of the Sun
2. Gravitational force of the Moon
3. Centrifugal force of the Earth
Select the correct answer using the code given below.
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

7) The most important fishing grounds of the world are found in the regions where
(2013)

(a) warm and cold atmospheric currents meet
(b) rivers drain out large amounts of freshwater into the sea
(c) warm and cold oceanic currents meet
(d) continental shelf is undulating

8)) Consider the following factors: (2012)
1. Rotation of the Earth 2. Air Pressure and wind
3. Density of ocean water 4. Revolution of the Earth
Which of the above factors influence the ocean currents?
(a) 1 and 2 only (b) 1, 2 and 3 (c) 1 and 4 (d) 2, 3 and 4

9) Which one of the following statements is not correct? (2004)
(a) Gulf with narrow fronts and wider rears experience high tides.
(b) Tidal currents take place when a gulf is connected with the open sea by a narrow

channel.
(c) Tidal bore occurs when a tide enters the narrow and shallow estuary of a river.
(d) The tidal nature of the mouth of the river Hooghly is of crucial importance to

Kolkata as port.
10) Consider the following statements: (2002)

1. Ocean currents are the slow-surface movement of water in the ocean
2. Ocean currents assist in maintaining the Earth’s heat balance
3. Ocean currents are set in motion primarily by prevailing winds
4. Ocean currents are affected by the configuration of the ocean
Which of these statements are correct?



(a) 1 and 2 (b) 2, 3 and 4 (c) 1, 3 and 4 (d) 1, 2, 3 and 4
11) Assertion (A): During the Neap Tides, the high tide is lower, and the low tide is
higher than usual.

Reason (R): The Neap Tide, unlike the Spring Tide, occurs on the New Moon
instead of on the Full Moon. (2001)

a) Both A and R are true, and R is the correct explanation of A
b) Both A and R are true, but R is not the correct explanation of A
c) A is true, but R is false
d) A is false, but R is true

12.Consider the following statements: (2000)
1. Tides are of great help in navigation and fishing
2. High tide enables big ships to enter or leave the harbour safely
3. Tide prevents siltation in the harbours
4. Kandla and Diamond Harbour are tidal ports
Which of these statements are correct?
(a) 1 and 4 (b) 2, 3 and 4 (c) 1, 2 and 3 (d) 1, 2, 3 and 4

13. Which one of the following factors is responsible for the change in the regular
direction of the ocean currents in the Indian Ocean? (1997)

(a) Indian Ocean is ‘half an ocean’
(b) Indian Ocean has Monsoon drift
(c) Indian Ocean is a land-locked Ocean
(d) Indian Ocean has greater variation in salinity

14) Consider the following statements: (2021)

1. In the tropical zone, the western sections of the oceans are warmer than the
easternsections owing to the influence of trade winds.

2. In the temperate zone, westerlies make the eastern sections of oceans warmer
than thewestern sections.
Which of the statements given above is/are correct?

a) 1 Only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2

15) With reference to the water on the Earth, consider the following statements:
(2021)

1. The amount of water in the rivers and lakes is more than the amount of
groundwater

2. The amount of water in polar ice caps and glaciers is more than the
amount ofgroundwater

Which of the statements given above is/ are correct?
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2



INTERIOR TO TECTONICS
1. Which of the following phenomena might have influenced the evolution of organisms?

(2014)
1. Continental drift
2. Glacial cycles
Select the correct answer using the code given below.
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

2. Consider the following: (2013)
1. Electromagnetic radiation
2. Geothermal energy
3. Gravitational force
4. Plate movements
5. Rotation of the earth
6. Revolution of the earth
Which of the above are responsible for bringing dynamic changes on the surface of the
earth?
(a) 1, 2, 3 and 4 only (b) 1, 3, 5 and 6 only
(c) 2, 4, 5 and 6 only (d) 1, 2, 3, 4, 5 and 6

3. Consider the following statements made about the sedimentary rocks: (2001)
1. Sedimentary rocks are formed at earth’s surface by the hydrological system
2. The formation of sedimentary rocks involves the weathering of pre-existing rocks
3. Sedimentary rocks contain fossils
4. Sedimentary rocks typically occur in layers
Which of these statements are correct?
(a)1 and 2 (b)1 and 4 (c) 2, 3 and 4 (d) 1, 2, 3 and 4

4. Quartzite is metamorphosed from (2001)
(a) limestone (b) obsidian (c) sandstone (d) shale

5. Which one of the following types of coal contains a higher percentage of carbon than
the rest? (1999)
(a) Bituminous coal (b) Lignite (c) Peat (d) Anthracite

6. Which one of the following is present in the largest amount in terms of percent by
mass in the earth’s crust? (1997)

a) Silicon (b) Oxygen (c) Carbon (d) Calcium

GEOPHYSICAL PHENOMENON
1. Consider the following statements regarding the earthquakes: (2006)

1. The Richter scale is a logarithmic scale and so an increase of 1 magnitude unit
represents a factor of 10 times in amplitude.

2. Each integer reading of the Richter scale has energy 100 times that of the previous
integer reading.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) neither 1 nor 2

2. Consider the following geophysical phenomena: (2004)
1. Development of a fault
2. Movement along a fault



3. Impact produced by a volcanic eruption
4. Folding of rocks
Which of the above cause earthquakes?
(a) 1, 2 and 3 (b) 2 and 4
(c) 1, 3 and 4 (d) 1, 2, 3 and 4

3. Seismic gaps are (2003)
(a) parts of plate boundaries in oceans where tsunami’s occur frequently.
(b) sections of plate boundaries that have ruptured repeatedly in the recent part.
(c) sections of plate boundaries that have not ruptured in the recent past.
(d) plate boundaries having no volcanic activity.

4. Consider the following statements regarding the earthquakes: (2001)
1. The intensity of earthquake is measured on Mercalli Scale
2. The magnitude of an earthquake is a measure of energy released.
3. Earthquake magnitudes are based on direct measurements of the amplitude of seismic

waves.
4. In the Richter Scale, each whole number demonstrates a hundredfold increase in the

amount of energy released.
Which of these statements are correct?
(a) 1, 2 and 3 (b) 2, 3 and 4
(c) 1 and 4 (d) 1 and 3

VOLCANOES
1. Consider the following statements: (2018)

1. The Barren island volcano is an active volcano located in the Indian Territory.
2. Barren Island lies about 140 km east of Great Nicobar.
3. The last time the Barren Island volcano erupted was in 1991 and it has remained

inactive since then.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 and (c) 3 only (d) 1 and 3

2. Consider the following statements: (2001)
1. Most magmas are a combination of liquid, solid, and gas.
2. Water vapour and carbon dioxide are the principal gases dissolved in a magma
3. Basaltic magma is hotter than the silicic magma.
4. The magma solidified between sedimentary rocks in a horizontal position is

known as dike.
Which of these statements are correct?
(a) 1, 2 and 3 (b) 2, 3 and 4
(c) 1 and 4 (d) 1, 2 and 4



SOILS
1. In India, the problem of soil erosion is associated with which of the following? (2014)

1. Terrace cultivation 2. Deforestation 3. Tropical climate
Select the correct answer using the code given below.
(a) 1 and 2 only (b) 2 only (c) 1 and 3 only (d)1, 2 and 3

2. Which of the following statements regarding laterite soils of India are correct?
(2013)
1. They are generally red in colour.
2. They are rich in nitrogen and potash.
3. They are well-developed in Rajasthan and UP.
4. Tapioca and cashew nuts grow well in these soils.
Select the correct answer using the codes given below.
(a) 1, 2 and 3 (b) 2, 3 and 4 (c) 1 and 4 (d) 2 and 3

3. Contour bunding is a method of soil conservation used in (2013)
(a) Desert margins, liable to strong wind action
(b) Low flat plains, close to stream course, liable to flooding
(c) Scrublands, liable to spread of weed growth
(d) None of the above

4. With reference to soil conservation, consider the following practices: (2010)
1. Crop rotation 2. Sand fences 3.Terracing 4. Wind breaks
Which of the above are considered appropriate methods for soil conservation in India?
(a) 1, 2 and 3 only (b) 2 and 4 only
(c) 1, 3 and 4 only (d) 1, 2, 3 and 4

5. When you travel in certain parts of India, you will notice red soil. (2010)
What is the main reason for this colour?
(a) Abundance of magnesium (b) Accumulated humus
(c) Presence of ferric oxides (d) Abundance of phosphates

6. Identify the correct order of the processes of soil-erosion the following: (2001)
(a) Splash erosion, Sheet erosion, Rill erosion, Gully erosion
(b) Sheet erosion, Splash erosion, Gully erosion, Rill erosion
(c) Rill erosion, Gully erosion, Sheet erosion, Splash erosion
(d) Gully erosion, Rill erosion, Sheet erosion, Splash erosion

7. The black cotton soil of India has been formed due to the weathering of (2021)

a) Brown forest soil
b) Fissure volcanic rock
c) Granite and schist
d) Shale and limestone



STRUCTURE AND PHYSIOGRAPHY
1) Siachen Glacier is situated to the (2020)

(a) East of Aksai Chin
(b) East of Leh
(c) North of Gilgit
(d) North of Nubra Valley

2. Consider the following pairs: (2014)
Hills Region

1. Cardamom Hills : Coromandel Coast
2. Kaimur Hills : Konkan Coast
3. Mahadeo Hills : Central India
4. Mikir Hills : North-East India
Which of the above pairs are correctly matched?
(a) 1 and 2 (b) 2 and 3 (c) 3 and 4 (d) 2 and 4

3. Which one of the following pairs of islands is separated from each other by the “Ten
Degree Channel”? (2014)
(a) Andaman and Nicobar
(b) Nicobar ad Sumatra
(c) Maldives and Lakshadweep
(d) Sumatra and Java

4. Consider the following statements: (2013)
1. Natural gas occurs in the Gondwana beds.
2. Mica occurs in abundance in Kodarma.
3. Dharwars are famous for petroleum.
Which of the statements given above is/are correct?
(a) 1 and 2 (b) 2 only (c) 2 and 3 (d) None

5. When you travel in Himalayas, you will see the following: (2012)
1. Deep gorges 2. U-turn river courses
3. Parallel mountain ranges 4. Steep gradients causing land sliding
Which of the above can be said to be the evidences for Himalayas being young fold
mountains?
(a) 1 and 2 only (b) 1, 2 and 4 only (c) 3 and 4 only (d) 1, 2, 3 and 4

6. If there were no Himalayan ranges, what would have been the most likely
geographical impact on India? (2010)
1. Much of the country would experience the cold waves from Siberia
2. Indo-Gangetic plain would be devoid of such extensive alluvial soils
3. The pattern of monsoon would be different from what it is at present.

Which of the statements given above is/are correct?
(a) 1 only (b) 1 and 3 only (c) 2 and 3 only (d) 1, 2 and 3

7. Which of the following hills are found where the Eastern Ghats and the Western
Ghats meet? (2008)
(a) Annamalai Hills (b) Cardamom Hills
(c) Nilgiri Hills (d) Shevaroy Hills



8. In which State is the Shikhar Peak located? (2007)
(a) Rajasthan (b) Gujarat (c) Madhya Pradesh (d) Maharashtra

9. Where were Shevaroy Hills located? (2007)
(a) Karnataka (b) Kerala (c) Andhra Pradesh (d) Tamil Nadu

10.Which one of the following statements is not correct? (2005)
(a) The western Ghats are relatively higher in their northern region
(b) The Anai Mudi is the highest peak in the Western Ghats
(c) Tapi river lies to the south of Satpura
(d) The Narmada and the Tapi river valleys are said to be old rift valleys.
11.Which one of the following is the correct sequence of the given hills starting from

the north and going towards the south? (2005)
(a) Nallamalai Hills—Nilgiri Hills—Javadi Hills—Annamalai Hills
(b) Annamalai Hills—Javadi Hills—Nilgiri Hills—Nallamalai Hills
(c) Nallamalai Hills—Javadi Hills—Nilgiri Hills—Annamalai Hills
(d) Annamalai Hills—Nilgiri Hills—Javadi Hills—Nallamalai Hills

12.With reference to India, Didwana, Kuchaman, Sargol and Khatu are the names of
(2021)

a) Glaciers
b) mangrove areas
c) Ramsar sites
d) Saline lakes

13.Consider the following pairs Peak Mountains: (2022)

1. Namcha Barwa – Garhwal Himalaya

2. Nanda Devi – Kumaon Himalaya

3. Nokrek – Sikkim Himalaya

Which of the pairs given above is/are correctly matched ?

(a) 1 and 2

(b) 2 only

(c) 1 and 3

(d) 3 only



RIVERS
HIMALAYAN RIVERS

1. Consider the following pairs: (2019)
Glacier River
Bandarpunch : Yamuna

1. Bara Shigri : Chenab
2. Milam : Mandakini
3. Siachen : Nubra
4. Zemu : Manas
Which of the pairs given above are correctly matched?
(a) 1, 2 and 4 (b) 1, 3 and 4 (c) 2 and 5 (d) 3 and 5

2. Consider the following pairs: (2019)
Famous place River
Pandharpur : Chandrabhaga

1. Tiruchirapalli : Cauvery
2. Hampi : Malaprabha
Which of the pairs given above are correctly matched?
(a) 1 and 2 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

3. With reference to river Teesta, consider the following statements: (2017)
1. The source of river Teesta is the same as that of Brahmaputra, but it flows through

Sikkim.
2. River Rangeet originates in Sikkim and it is a tributary of river Teesta.
3. River Teesta flows into Bay of Bengal on the border of India and Bangladesh.
Which of the statements given above is/are correct?
(a) 1 and 3 only (b) 2 only (c) 2 and 3 only (d) 1, 2 and 3

4. Which of the following is/are tributary/tributaries of Brahmaputra? (2016)
1. Dibang
2. Kameng
3. Lohit
Select the correct answer using the code given below.
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

5. Consider the following rivers: (2014)
1. Barak
2. Lohit
3. Subansiri
Which of the above flows / flow through Arunachal Pradesh?
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

6. Consider the following pair: (2013)
National Park River flowing through the Park

1. Corbett National Park : Ganga

2. Kaziranga National Park : Manas

3. Silent Valley National Park : Kaveri

Which of the above pairs is/are correctly matched?
(a) 1 and 2 (b) 3 only (c) 1 and 3 (d) None



7. The Brahmaputra, Irrawaddy and Mekong rivers originates in Tibet and flow
through narrow and parallel mountain ranges in their upper reaches. Of these
rivers, Brahmaputra makes a “U” turn in its course of flow into India. This “U”
turn is due to: (2011)
(a) Uplift of folded Himalayan series
(b) Syntaxial bending of geologically young Himalayas
(c) Geo-tectonic disturbance in the tertiary folded mountain chains
(d) Both (a) and (b) above.

8. Rivers that pass-through Himachal Pradesh are (2010)
(a) Bea and Chenab only
(b) Beas and Ravi only
(c) Chenab, Ravi and Satluj only
(d) Beas, Chenab, Ravi, Satluj and Yamuna.

9. Which one of the following pairs is not correctly matched? (2010)
Dam/Lake River

(a) Govind Sagar : Satluj
(b) Kolleru Lake : Krishna
(c) Ukai Reservoir : Tapi
(d) Wular Lake : Jhelum

10. Which one of the following rivers does not originate in India? (2009)
(a) Beas (b) Chenab (c) Ravi (d) Sutlej

11. On which one of the following rivers is the Tehri Hydropower Complex located?
(2008)
(a) Alaknanda (b) Bhagirathi (c) Dhauliganga (d) Mandakini

12. From north towards south, which one of the following is the correct sequence of the
given rivers in India? (2006)
(a) Shyok--Spiti—Zaskar---Satluj
(b) Shyok—Zaskar—Spiti—Satluj
(c) Zaskar—Shyok—Satluj—Spiti
(d) Zaskar—Satluj—Shyok—Spiti

13. Consider the following statements:(2004)
1. Damodar Valley Corporation is the first multipurpose river valley project of

independent India
2. Damodar Valley Corporation includes thermal and gas power stations
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) both 1 and 2 (d) Neither 1 nor 2

14. Consider the following statements: (2000)
1. Ganga Plain is the most densely populated part of India
2. Ganga is the most harnessed River of India
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) both 1 and 2 (d) Neither 1 nor 2

15. Match List-I with List-II and select the correct answer using the codes given below
the lists: (1999)
List-I (Rivers) List-II (Dams)

A. Cauvery 1. Alamatti
B. Krishna 2. Mettur
C. Narmada 3. Gandhi Nagar
D. Chambal 4. Sardar Sarovar

A B C D A B C D
(a) 1 4 2 3 (b) 2 1 4 3



(c) 2 1 3 4 (d) 1 3 4 2
16. The Alamatti is on river (1998)

(a) Godavari (b) Cauvery (c) Krishna (d) Mahanadi

17. Between which of the following was the ancient town of Takshasila located? (2006)
(a) Indus and Jhelum (b) Jhelum and Chenab
(c) Chenab and Ravi (d) Ravi and Beas

18. Consider the following rivers: (2021)
1. Brahmani
2. Nagavali
3. Subarnarekha
4. Vamsadhara

Which of the above rise from the Eastern Ghats?
a) 1 and 2
b) 2 and 4
c) 3 and 4
d) 1 and 3

19) Gandikota canyon of South India was created by which one of the following rivers ?
(2022)

(a) Cauvery

(b) Manjira

(c) Pennar

(d) Tungabhadra

PENINSULAR RIVERS

1. Consider the following pairs: (2019)
Wildlife Naturally found in

1. Blue-finned Mahseer : Cauvery River
2. Irrawaddy Dolphin : Chambal River
3. Rusty-spotted Cat : Eastern Ghats
Which of the pairs given above are correctly matched?
(a) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d) 1, 2 and 3

2. Consider the following rivers: (2015)
1. Vamsadhara 2. Indravati 3. Pranahita 4. Pennar
Which of the above are tributaries of Godavari?
(a) 1, 2 and 3 (b) 2, 3 and 4 (c) 1, 2 and 4 (d) 2 and 3 only

3. The Narmada River flows to the west, while most other large peninsular Rivers flow
to the east. Why? (2013)
1. It occupies a linear rift valley.
2. It flows between the Vindhyas and the Satpuras.
3. The land slopes to the west from Central India.



Select the correct answer using the codes given below:
(a) 1 only (b) 2 and 3 (c) 1 and 3 (d) None

4. Two important Rivers- one with its source in Jharkhand (and known by a different
name in Odisha), and another, with its source in Odisha- merge at a place only a
short distance from the coast of Bay of Bengal before flowing into the Sea. This is an
important site of wildlife and biodiversity and a protected area. Which one of the
following could be this? (2011)
(a) Bhitarkanika (b) Chandipur-on-sea
(c) Gopalpur-on-sea (d) Simlipal

5. With reference to the River Luni, which one of the following statements is correct?
(2010)
(a) It flows into Gulf of Khambhat
(b) It flows into Gulf of Kutchch
(c) It flows into Pakistan and merges with a tributary of Indus
(d) It is lost in the marshy land of the Rann of Kuchch

6. Consider the following statements (2009)
1. There are no east flowing Rivers in Kerala
2. There are no west flowing Rivers in Madhya Pradesh
Which of the above statements is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

7. At which one of the following places do two important Rivers of India originate;
while one of them flows towards north and merges with another important River
flowing towards Bay of Bengal, the other one flows towards Arabian Sea? (2009)
(a) Amarkantak (b) Badrinath (c) Mahabaleshwar (d) Nasik

8. Consider the following pairs: (2008)
Tributary River Main River
1. Chambal : Narmada
2. Son : Yamuna
3. Manas : Brahmaputra
Which of the pairs above is/are correctly matched?
(a) 1, 2 and 3 (b) 1 and 2 only (c) 2 and 3 only (d) 3 only

9. With which one of the following Rivers is the Omkareshwar Project associated?
(2008)
(a) Chambal (b) Narmada (c) Tapi (d) Bhima

10. In India, how many States share the coastline? (2008)
(a) 7 (b) 8 (c) 9 (d) 10

11. Which one of the following Rivers originates at Amarkantak? (2007)
(a) Damodar (b) Mahanadi (c) Narmada (d) Tapti

12. Consider the following statements: (2007)
1. River Kalinadi is an east-flowing River in the southern part of India
2. The Deccan Plateau is higher along its western edge and gently slopes towards the

Bay of Bengal in the east.
Which of the above statements is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

13. Which one of the following statements is not correct? (2006)
(a) Mahanadi River rises in Chhattisgarh
(b) Godavari River rises in Maharashtra
(c) Cauvery River rises in Andhra Pradesh
(d) Tapti River rises in Madhya Pradesh



14. Which one of the following statements is not correct? (2005)
(a) The Western Ghats are relatively higher in their northern region
(b) The Anai Mudi is the highest peak in the Western Ghats
(c) Tapi River lies to the south of Satpura
(d) The Narmada and the Tapi River valleys are said to be old rift valleys.

15. What is the correct sequence of the River Godavari, Mahanadi, Narmada, and Tapi
in the descending order of their lengths? (2003)
(a) Godavari—Mahanadi—Narmada—Tapi
(b) Godavari—Narmada—Mahanadi—Tapi
(c) Narmada—Godavari—Tapi—Mahanadi
(d) Narmada—Tapi—Godavari—Mahanadi

16. The correct sequences of the eastward flowing Rivers of the peninsular from north
to south is (2002)
(a) Subarnarekha, Mahanadi, Godavari, Krishna, Pennar, Cauvery and Vaigai
(b) Subarnarekha, Mahanadi, Krishna, Godavari, Cauvery, Vaigai, and Pennar
(c) Mahanadi, Subarnarekha, Godavari, Krishna, Cauvery, Pennar and Vaigai
(d) Mahanadi, Subarnarekha, Krishna, Godavari, Cauvery, Vaigai, and Pennar

17. Which one of the following statements is not true? (2000)
(a) Gaggar’s water is utilized in the Indira Gandhi Canal
(b) Narmada rises from Amarkantak region
(c) Nizam Sagar is situated on the Manjira River
(d) Penganga is a tributary of the Godavari

18. Which one of the following east flowing rivers of India has rift valley due to down
warping? (1998)
(a) Damodar (b) Mahanadi (c)Son (d) Yamuna

19. Which one of the following Rivers thrice forks into two streams and reunites a few
miles farther on, thus forming the islands of Srinagapattanam, Sivasamudram and
Srinagam? (1996)
(a) Cauvery (b) Tungabhadra (c) Krishna (d) Godavari

20. Consider the following Rivers: (1996)
1. Kishenganga 2. Ganga 3. Wainganga 4. Penganga
The correct sequence of these Rivers when arranged in the north-south direction is
(a) 1, 2, 3, 4 (b) 2, 1, 3, 4 (c) 2, 1, 4, 3 (d) 1, 2, 4, 3

21. With reference to the Indus river system, of the following four rivers, three of them
pour into one of them which joins the Indus direct. Among the following, which one
is such riverthat joins the Indus direct?
a) Chenab
b) Jhelum
c) Ravi
d) Sutlej

AGRICULTURE

1) What is use of biochar in farming? (2020)
1. Biochar can be used as a part of the growing medium in vertical farming.
2. When biochar is a part of the growing medium, it promotes the growth of

nitrogen-fixing microorganisms.
3. When biochar is a part of the growing medium, it enables the growing medium

to retain water for longer time.



Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 2 only
(c) 1 and 3 only (d) 1, 2 and 3

2) What is/are the advantage/advantages of zero tillage in agriculture? (2020)
1. Sowing of wheat is possible without burning the residue of previous crop.
2. Without the need for nursery of rice saplings, direct planting of paddy seeds in the wet

soil is possible.
3. Carbon sequestration in the soil is possible.
Select the correct answer using the code given below:
(a) 1 and 2 only (b) 2 and 3 only
(c) 3 only (d) 1, 2 and 3

3) “The crop is sub-tropical in nature. A hard frost is injurious to it. It requires at
least 210 frost-free days and 50 to 100 centimeters of rainfall for its growth. A light
well-drained soil capable of retaining moisture is ideally suited for cultivation of the
crop”. Which one of the following is that crop? (2020)
(a) Cotton (b) Jute (c) Sugarcane (d) Tea

4) With reference to the current trends in the cultivation of sugarcane in India,
consider the following statements: (2020)
1. A substantial saving in seed material is made when ‘bud chip settlings’ are raised in a

nursery and transplanted in the main field.
2. When direct planting of setts is done, the germination percentage is better with single-

budded setts as compared to setts with many buds.
3. If bad weather conditions prevail when setts are directly planted, single-budded setts

have better survival as compared to large setts.
4. Sugarcane can be cultivated using settlings prepared from tissue culture.
Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 3 only
(c) 1 and 4 only (d) 2, 3 and 4 only

5) In the context of India, which of the following is/are considered to be practice(s) of
eco-friendly agriculture? (2020)
1. Crop diversification
2. Legume intensification
3. Tensiometer use
4. Vertical farming
Select the correct answer using the code given below:
(a) 1, 2 and 3 only (b) 3 only
(c) 4 only (d) 1, 2, 3 and 4

6) What are the advantages of fertigation in agriculture? (2020)
1. Controlling the alkalinity of irrigation water is possible.
2. Efficient application of Rock Phosphate and all other phosphatic fertilizers is possible.
3. Increased availability of nutrients to plants is possible.
4. Reduction in the leaching of chemical nutrients is possible.
Select the correct answer using the code given below:
(a) 1, 2 and 3 only (b) 1, 2 and 4 only
(c) 1, 3 and 4 only (d) 2, 3 and 4 only

7) With reference to chemical fertilizers in India, consider the following statements:
(2020)
1. At present, the retail price of chemical fertilizers is market-driven and not

administered by the Government.
2. Ammonia, which is an input of urea, is produced from natural gas.



3. Sulphur, which is a raw material for phosphoric acid fertilizer is a by-product of oil
refineries.

Which of the statements given above is/are correct?
a) 1 only
b) 2 and 3 only
c) 2 only
d) 1, 2 und 3

8) With reference to the cultivation of Kharif crop in India in the last five years,
consider the following statements: (2019)

1. Area under rice cultivation is the highest.
2. Area under the cultivation of jowar is more than that of oilseeds.
3. Area of cotton cultivation is more than that of sugarcane.
4. Area under sugarcane cultivation has steadily decreased.
Which of the statements given above are correct?
(a) 1 and 3 only (b) 2, 3 and 4 (c) 2 and 4 only (d) 1, 2, 3 and 4

9) Consider the following statements: (2019)
1. Agricultural soils release nitrogen oxides into environment.
2. Cattle release ammonia into environment.
3. Poultry industry releases reactive nitrogen compounds into environment.
Which of the statements given above is/are correct?
(a) 1 and 3 only (b) 2 and 3 only (c) 2 only (d) 1, 2 and 3

10) With reference to the circumstances in Indian agriculture, the concept of
“Conservation Agriculture” assumes significance. Which of the following fall
under the Conservation Agriculture? (2018)
1. Avoiding the monoculture practices
2. Adopting minimum tillage
3. Avoiding the cultivation of plantation crops
4. Using crop residues to cover soil surface
5. Adopting spatial and temporal crop sequencing/crop rotations
Selecting the correct answer using the code given below:
(a) 1, 3 and 4 (b) 2, 3, 4 and 5 (c) 2, 4 and 5 (d) 1, 2, 3 and 5

11) With reference to agricultural soils, consider the following statements: (2018)
1. A high content of organic matter in soil drastically reduces its water holding capacity.
2. Soil does not play any role in the sulphur cycle.
3. Irrigation over a period of time can contribute to the salinization of some agricultural

lands.
Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 3 only (c) 1 and 3 only (d) 1, 2 and 3

12) Which of the following practices can help in water conservation in agriculture?
(2017)
1. Reduced or Zero tillage of the land
2. Applying gypsum before irrigating the field
3. Allowing crop residue to remain in the field
Select the correct answer using the code given below:
(a) 1 and 2 only (b) 3 only (c) 1 and 3 only (d) 1, 2 and 3

13) Which of the following is/are the advantages / advantages of practising drip
irrigation? (2016)
1. Reduction in weed.
2. Reduction in soil salinity



3. Reduction in soil erosion
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 3 only
(c) 1 and 3 only
(d) None of the above is an advantages of practising drip irrigation

14) Why does the Government of India promote the use of ‘Neem-coated urea’ in
agriculture? (2016)
(a) Release of neem oil in the soil increases nitrogen fixation by the soil microorganisms
(b) Neem coating slows down the rate of dissolution of urea in the soil
(c) Nitrous oxide, which is a greenhouse gas, is not at all released into atmosphere by

crop fields
(d) It is a combination of a weedicide and a fertilizer for particular crops

15) In India, cluster bean (Guar) is traditionally used as a vegetable or animal feed, but
recently the cultivation of this has assumed significance. Which one of the following
statements is correct in this context? (2014)
(a) The oil extracted from seeds is used in the manufacture of biodegradable plastics
(b) The gum made from its seeds is used in the extraction of shale gas
(c) The leaf extract of this plant has the properties of anti-histamines
(d) It is a source of high-quality biodiesel

16) Consider the following crops: (2013)
1. Cotton
2. Groundnut
3. Rice
4. Wheat
Which of these are Kharif crops?
(a) 1 and 4 (b) 2 and 3 (c) 1, 2 and 3 (d) 2, 3 and 4

17) Which of the following is the chief characteristic of ‘mixed farming’? (2012)
(a) Cultivation of both cash crops and food crops
(b) Cultivation of two or more crops in the same field
(c) Rearing of animals and cultivation of crops together
(d) None of the above

18) Consider the following crops of India: (2012)
1. Cowpea
2. Green gram
3. Pigeon pea
Which of the above is/are used as pulse, fodder, and green manure?
(a) 1 and 2 (b) 2 only (c) 1 and 3 (d) 1, 2, and 3

19) Consider the following crops of India: (2012)
1. Groundnut
2. Sesamum
3. Pearl millet
Which of the above is/are predominantly rainfed crop/crops?
(a) 1 and 2 (b) 2 and 3 (c) 3 only (d) 1, 2, and 3

20) The lower Gangetic plain is characterized by humid climate with high
temperature throughout the year. Which one among the following pairs of crops is
the most suitable for this region? (2011)

(a) Paddy and cotton (b) Wheat and Jute
(c) Paddy and Jute (d) Wheat and cotton



21) Among the following States, which one has the most suitable climatic conditions for
the cultivation of a large variety of orchids with minimum cost of production, and
can develop an export-oriented industry in this field? (2011)

(a) Andhra Pradesh
(b) Arunachal Pradesh
(c) Madhya Pradesh
(d) Uttar Pradesh

22) With reference to micro-irrigation, which of the following statements is/are correct?
(2011)
1. Fertilizer/nutrient loss can be reduced.
2. It is the only means of irrigation in dry land farming.
3. In some areas of farming, receding of ground water table can be checked.
Select the correct answer using the codes given below:
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

23) Salinization occurs when the irrigation water accumulated in the soil evaporates,
leaving behind salts and minerals. What are the effects of salinization on the
irrigated land? (2011)
(a) It greatly increases the crop production
(b) It makes some soils impermeable
(c) It raises the water table
(d) It fills the air spaces in the soil with water

24) How is permaculture farming different from conventional chemical farming?(2021)

5. Premaculture farming discourages mono-cultural practices but in
conventional chemicalfarming, monoculture practices are pre-dominant.

6. Conventional chemical farming can cause increase in soil salinity but the
occurrence ofsuch phenomenon is not observed in permaculture farming.

7. Conventional chemical farming is easily possible in semi-arid regions but
permaculturefarming is not so easily possible in such regions.

8. Practice of mulching is very important in permaculture farming but not
necessarily so inconventional chemical farming.

Select the correct answer using the code given below.

a) 1 and 3
b) 1,2 and 4
c) 4 only
d) 2 and 3

25) Among the following, which one is the least water-efficient crop? (2021)

a) Sugarcane
b) Sunflower
c) Pearl millet
d) Red gram



26) In the context of India’s preparation for Climate-Smart Agriculture, consider
the followingstatements: (2021)

1. The ‘Climate-Smart Village’ approach in India is a part of a project led by
the Climate Change, Agriculture and food Security(CCAFS), an
international research programme.

2. The project of CCAFS is carried out under Consultative Group on
International Agricultural Research (CGIAR) headquartered in
France.

3. The International Crops Research Institute for the Semi-Arid Tropics
(ICRISAT) in Indiais one of the CGIAR’s research centers.

Which of the statements given above are correct?
a) 1 and 2 only
b) 2 and 3 only
c) 1 and 3 only
d) 1,2 and 3

27) Bollgard I and Bollgard II technologies are mentioned in the context of (2021)

a) Clonal propagation of crop plants
b) Developing genetically modified crop plants
c) Production of plant growth substances
d) Production of biofertilizer

28) “System of Rice Intensification” of cultivation, in which alternate wetting and
drying of rice fields is practised, results in : (2022)

1. Reduced seed requirement

2. Reduced methane production

3. Reduced electricity consumption

Select the correct answer using the code given below :

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

(In this cultivation system, 2–3 seedlings should be planted per hill with wide spacing, to
increase the initial population size at transplanting)



LAKES

1) Which one of the following lakes of West Africa has become dry and turned into a
desert ? (2022)

(a) Lake Victoria

(b) Lake Faguibine

(c) Lake Oguta

(d) Lake Volta

MISCELLANEOUS

1) Consider the following countries : (2022)

1. Azerbaijan

2. Kyrgyzstan

3. Tajikistan

4. Turkmenistan

5. Uzbekistan

Which of the above have borders with Afghanistan ?

(a) 1, 2 and 5 only

(b) 1, 2, 3 and 4 only

(c) 3, 4 and 5 only

(d) 1, 2, 3, 4 and 5

2) With reference to India, consider the following statements : (2022)

1. Monazite is a source of rare earths.

2. Monazite contains thorium.

3. Monazite occurs naturally in the entire Indian coastal sands in India.



4. In India, Government bodies only can process or export monazite.

Which of the statements given above are correct?

(a) 1, 2 and 3 only

(b) 1, 2 and 4 only

(c) 3 and 4 only

(d) 1, 2, 3 and 4

3) Consider the following States : (2022)

1. Andhra Pradesh

2. Kerala

3. Himachal Pradesh

4. Tripura

How many of the above are generally known as tea-producing States ?

(a) Only one State

(b) Only two States

(c) Only three States

(d) All four States

3) Consider the following pairs: (2022)

Reservoirs States

1. Ghataprabha – Telangana

2. Gandhi Sagar – Madhya Pradesh

3. Indira Sagar – Andhra Pradesh

4. Maithon – Chhattisgarh

How many pairs given above are not correctly matched ?

(a) Only one pair



(b) Only two pairs

(c) Only three pairs

(d) All four pairs

4) Consider the following statements: (2022)

1. Gujarat has the largest solar park in India.

2. Kerala has a fully solar powered International Airport.

3. Goa has the largest floating solar photovoltaic project in India.

Which of the statements given below is/are correct?

(a) 1 and 2

(b) 2 only

(c) 1 and 3

(d) 3 only

MAP BASED QUESTIONS

2020

1) Consider the following pairs:
River Flows into

1. Mekong -- Andaman Sea
2. Thames -- Irish Sea
3. Volga -- Caspian Sea
4. Zambezi -- Indian Ocean
Which of the pairs given above is/are correctly matched?
(a) 1 and 2 only (b) 3 only
(c) 3 and 4 only (d) 1, 2 and 4 only

2) Siachen Glacier is situated to the
(a) East of Aksai Chin
(b) East of Leh
(c) North of Gilgit
(d) North of Nubra Valley

1. What is common to the places known as Aliyar, Isapur and Kangsabati?
(a) Recently discovered uranium deposits
(b) Tropical rain forests
(c) Underground cave systems
(d) Water reservoirs

2019

2020



2. Consider the following pairs:
Sea Bordering country

1. Adriatic Sea : Albania
2. Black Sea : Croatia
3. Caspian Sea : Kazakhstan
4. Mediterranean Sea : Morocco
5. Red Sea : Syria
Which of the pairs given above are correctly matched?
(a) 1, 2 and 4 only (b) 1, 3 and 4 only
(c) 2 and 5 only (d) 1, 2, 3, 4 and 5

3. Consider the following pairs:
Glacier River

1. Bandarpunch : Yamuna
2. Bara Shigri : Chenab
3. Milam : Mandakini
4. Siachen : Nubra
5. Zemu : Manas
Which of the pairs given above are correctly matched?
(a) 1, 2 and 4 (b) 1, 3 and 4 (c) 2 and 5 (d) 3 and 5

1. Consider the following statements:
1. The Barren island volcano is an active volcano located in the Indian Territory.
2. Barren Island lies about 140 km east of Great Nicrobar.
3. The last time the Barren Island volcano erupted was in 1991 and it has remained

inactive since then.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) 3 only (d) 1 and 3

2. Which of the following has/ have shrunk immensely/dried up in the recent past due
to human activities?
1. Aral Sea
2. Black sea
3. Lake Baikal
Select the correct answer using the code given below:
(a) 1 only (b) 2 and 3 (c) 2 only (d) 1 and 3

3. Very recently, in which of the following countries have lakhs of people either
suffered from severe famine / acute malnutrition or died due to starvation caused by
war / ethnic conflicts
(a) Angola and Zambia
(b) Morocco and Tunisia
(c) Venezuela and Colombia
(d) Yemen and South Sudan

4. Among the following cities, which one lies on a longitude closest to that of Delhi?
(a) Bengaluru
(b) Hyderabad

2018



(c) Nagpur
(d) Pune

5. Consider the following pairs:
Towns sometimes Country
mentioned in news
1. Aleppo - Syria
2. Kirkuk - Yemen
3. Mosul - Palestine
4. Mozar-i-sharif - Afghanistan
Which of the pairs given above are correctly matched?
(a) 1 and 2 (b) 1 and 4 (c) 2 and 3 (d) 3 and 4

6. Which one of the following is an artificial lake?
(a)Kodaikanal (Tamil Nadu)
(b)Kolleru (Andhra Pradesh)
(c)Nainital (Uttarakhand
(d)Renuka (Himachal Pradesh)

1. If you travel by road from Kohima to Kottayam, what is the minimum number of
States within India through which you can travel, including the origin and the
destination?
(a) 6 (b) 7 (c) 8 (d) 9

2. At one of the places in India, if you stand on the seashore and watch the sea, you will
find that the sea water recedes from the shore line a few kilometres and comes back
to the shore, twice a day, and you can actually walk on the sea floor when the water
recedes. This unique phenomenon is seen at
(a) Bhavnagar (b) Bheemunipatnam
(c) Chandipur (d) Nagapattinam

3. Which of the following is geographically closet to Great Nicobar?
(a) Sumatra
(b) Borneo
(c) Java
(d) Sri Lanka

4. Mediterranean Sea is a border of which of the following countries?
1. Jordan 2. Iraq 3. Lebanon 4. Syria
Select the correct answer using the code given below:
(a) 1, 2 and 3 only (b) 2 and 3 only (c) 3 and 4 only (d) 1, 3 and 4 only

5. Consider the following statements:
1. In India, the Himalayas are spread over five States only.
2. Western Ghats are spread over five States only.
3. Pulicat Lake is spread over two States only.
Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 3 only (c) 2 and 3 only (d) 1 and 3 only

1. In which of the following regions of India are shale gas resources found?
1. Cambay Basin

2016

2017



2. Cauvery Basin
3. Krishna-Godavari Basin
Select the correct answer using the code given below.
(a) 1 and 2 only (b) 3 only (c) 2 and 3 only (d) 1, 2 and 3

1. Which one of the following pairs of States of India indicates the eastern most and
western most State?
(a) Assam and Rajasthan
(b) Arunachal Pradesh and Rajasthan
(c) Assam and Gujarat
(d) Arunachal Pradesh and Gujarat

2. Which one of the following countries of South-West Asia does not open out to the
Mediterranean Sea?
(a) Syria (b) Jordan (c) Lebanon (d) Israel

1. Which one of the following pairs of islands is separated from each other by the “Ten
Degree Channel”?
(a) Andaman and Nicobar
(b) Nicobar ad Sumatra
(c) Maldives and Lakshadweep
(d) Sumatra and Java

2. Turkey is located between
(a) Black Sea and Caspian Sea
(b) Black Sea and Mediterranean Sea
(c) Gulf of Suez and Mediterranean Sea
(d) Gulf of Aqaba and Dead Sea

3. What is the correct sequence of occurrence of the following cities in South-East Asia
as one proceeds from south to north?
1. Bangkok 2. Hanoi 3. Jakarta 4. Singapore
Select the correct answer using the code given below.
(a) 4 – 2 – 1 – 3 (b) 3 – 2 – 4 – 1 (c) 3 – 4 – 1 – 2 (d) 4 – 3 – 2 – 1

4. Consider the following pairs:
Region often in news Country
1. Chechnya : Russian Federation
2. Darfur : Mali
3. Swat Valley : Iraq
Which of the above pairs is / are correctly matched?
(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) 1, 2 and 3

5. Consider the following pairs:
Hills Region

1. Cardamom Hills : Coromandel Coast
2. Kaimur Hills : Konkan Coast
3. Mahadeo Hills : Central India
4. Mikir Hills : North-East India
Which of the above pairs are correctly matched?
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(a) 1 and 2 (b) 2 and 3 (c) 3 and 4 (d) 2 and 4
6. Consider the following pairs:
National Highway Cities connected
1. NH 4 : Chennai and Hyderabad
2. NH 6 : Mumbai and Kolkata
3. NH 15 : Ahmedabad and Jodhpur
Which of the above pairs is / are correctly matched?
(a) 1 and 2 only (b) 3 only (c) 1, 2 and 3 (d) None

1. Which one of the following pairs is correctly matched?
Geographical
Feature

Region

(a) Abyssinian Plateau : Arabia
(b) Atlas Mountains : North-Western Africa
(c) Guiana Highlands : South-Western Africa
(d) Okavango Basin : Patagonia

1. A particular State in India has the following characteristics:
1. It is located on the same latitude which passes through northern Rajasthan.
2. It has over 80% of its area under forest cover.
3. Over 12% of forest cover constitutes Protected Areas Network in this State.
Which one among the following States has all the above characteristics?
(a) Arunachal Pradesh (b) Assam
(c) Himachal Pradesh (d) Uttarakhand

1. Between India and East Asia, the navigation-time and distance can be greatly
reduced by which of the following?

1. Deepening the Malacca straits between Malaysia and Indonesia.
2. Opening a new canal across the Kra isthmus between the Gulf of Siam and Andaman

Sea.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

2. A state in India has the following characteristics
1. Its northern part is arid and semi-arid
2. Its central part produces cotton.
3. Cultivation of cash crops is predominant over food crops.
Which one of the following states has all of the above characteristics?
(a) Andhra Pradesh (b) Gujarat
(c) Karnataka (d) Tamil Nadu
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